Homework Problem for PS315 (Modern Physics Lab) January 25, 2011

xi = {0.8, 2.0, 3.0, 3.8, 5.1, 6.1};
y = {4.3, 5.6, 12.3, 13.0, 18.7, 19.1};
s = {1.5, 2.1, 1.3, 2.3, 2.8, 1.6};
X*=3381, m=3.113, b=1.374
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20f | + 20f 4
. L ]
15F | . 1sf
o r % ¥
10} % ! 10}
5 ; * 5 . .




Using the determinant method, we find the following:

nun 1 num 1112 num : 2
In[129]:= | delta =Z—Zx[[l]] _ Z x[[;.]]] .

Solli])? 5 oll4]]? a1 ollin?

1 VW x[[1]1]7 B\ y[[i]] o x[[4]] n“"‘x[[i]]!![[i]]]
al = - s
delta §0[[i]]z ,g'c'[[i]]z l210[[1]]z 121: o[[i]]?
1 Bt A x[[L]] y[[4]] RS x[[i]] X% y[[i]] ]
bl = = ;
delta ;Z; o[[i]]? ;Z:’ o[[i]1]? Z; o[[i1]1? {H ol[4]]?

1= 1
deltab = > =3
delta {3 o[[i]]
Print["Intercept a = ",al, " z ", deltaa]
Print["Slope b=",bl, " + ", deltab]

Intercept a = 2.1244 =+ 1.43034
Slope b = 2.93208 = 0.385662
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